FD-2027
" B.Com. (Part-I) Examination, 2022

Compulsory

Group - III
Paper - I

Business Statistics

Time : Three Hours] [Maximum Marks : 75
e wdft T F SR AN wft uRl & e
TAE ¥
Note : Answer all questions. All questions carry equal
marks.
ZehTS / Unit-1

1. wiferst & geuAn, IHh sl w 3Tk
gfq Afaver W Te fewoit fafEu|

Write a note on the misuse, limitations and
distrust of statistics.
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3% [0-10[10-20[20-30|30-4040-5050-60|60-70

sgfal 7 [ 10 [ 15 | 20 | 25 | 12 | 10

Find out the median from the following

frequency distribution :

Marks 0-10]10-20{20-30j30-40[40-50[50-60]60-70

Frequency| 7 | 10 | 15 | 20 | 25 | 12 | 10

3RS / Unit-11
2. TH S SRE H I & fafa= eTer

U1 TR AE H foashd Aol Sl sl e

F e f yaR ¥

Al kAR 45|67 8]9]10|11]12

Sl R EET| 5| 8 |12]25(26(24] 12 5] 2

63al dT 80al WdHE WA HITST |

In a shop there is a data for different sizes of
shoes and for the no. of shoes sold in the
month of November :
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Sizesof Shoes| 4 [ 5|16 | 7| 89 |10[11]12

No.of Shoes| 5 | 8 [12]25(26]|24 (12| 5| 2

Find the 63rd and 80th Percentile.

34T / OR

frfafaa eiwel 4 wedt foods &1 fawman
Ulh A ShITST

3t (T w|) | 20[30(40(50|60]70 (80| 90100

S W@ | 3 |14(30(60 (75 (85(92(97(100

Find the coefficient of skewness of Karl Pearsons
from the following data :

Marks (below) [ 20{30{40|50{60|70|80]90(100

No. of Students| 3 |14 130|60|75]|85]92( 97(100

FehTS / Unit-111
3. FeEeY qA FAmEA H AW wifed|
gt wae it fafvy= fafeai w6t faa=mn
HifSTT |

Distinguish ~ between Correlation  and
Regression. Also discuss the various methods
of measuring regression.
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fre7 sffehel ¥ SMEEN & W T o &R
% o9 Hegay Uk T[T

fSrem &TThel SR | g R
(=t fR. )
A 150 30000 300
B 180 90000 1440
C 100 40000 560
D 60 42000 840
E 120 72000 1224
F 80 24000 322

Find coefficient of correlation between
population density and death rate from the
following data :

District Area Population| Death
(in sq. km.) Rate

A 150 30000 300
B 180 90000 1440
C 100 40000 560
D 60 42000 840
E 120 72000 1224
F 80 24000 322
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ZehTg / Unit-IV

4. & A 9o U fI=or & Huesl ol Sooid
HIMT AR IR |igd 396 TI@ A=
S TR I

Name the components of variation in a time

series and explain their salient features with
illustrations.

34T / OR

frafafgad g6 9@ 99 2020 kI STER 99

AR 2021 % fau feR ol ¥ s
facwies &t ToET i

g9 2020 g5 2021
R O | |:1 | 9o | H°E
I 5 10 4 12
i 8 6 7 7
il 6 3 5 4

Calculate Index number for the year 2021 on
the basis of year 2020 by Fisher’s ideal
formula, from the data given below :
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Year 2020 Year 2021
Article
Price |[Quantity| Price [Quantity
I 5 10 4 12
II 8 6 7 7
I 6 3 5 4

ZehTg / Unit-V

5. ‘oyaEifae gEigAE’ w1 @ e ®2

e qagaE & fau yga wiferenia
Afaei 1 aoF wifs)
What is meant by business forecasting ?

Describe the statistical methods used in

business forecasting.
37Ydr / OR

52 U<l Sl AMT I TSel W W ®iE & T
gl Tl X theh feu W@ € a1 9w
50 T W W Uk IR WGl Tk w1 Ul
e &1 = wifasar €2
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Two cards are randomly drawn from a pack
of 52 cards and thrown away. What is the
probability of drawing an ace in a single draw
from the remaining 50 cards ?
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